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ATATT fASA- (General Instruction)
> qeTdf garEea e reel # 3R &)

(Examinee write answer in their own words as far as practicable.)

- ER e RS
(The total number of questions is 19)

> UF HEIT 1 ¥ TS &A1 7 de Hidegadd UH & 3aH & fhdl urar wsl & 3R
AT g us o1 AT 2 3id FAIRT R
(Question number 1 to Question number 7 are very short answer type questions.
Answer any five of these questions. Each question carries 2 marks.)

> UF HEIT 8 ¥ UH WEAT 14 db olgealid UH &1 39 & fohedl 5 Ul & 3
QST g% uH &1 AT 3 e FUiRa R
(Question number 8 to Question number 14 are short answer type questions. Answer
any five of these questions . Each question carries 3 marks.)

> UH TEAT 15 T U TCIT 19 dob SU3aiT UH &1 38 § fheel e uslf & 3R
QST A% us &1 71 5 3w [AYRAT ®)
(Question number 15 to Question number 19 are long answer type questions. Answer
any Three of these questions . Each question carries 5 marks.)

Sec A

1. fag31 (3,7 41 (2,-3) & &g B Y FATd B
Find the distance between points (-3,7) and (2,-3).
2. TfesinA =3/5 81,4 cotA 3R secA BT 71T FATd HIfATI
If SinA=3/5, then find the value of CotA and SecA.
3. HIF 3ITd HIfT7 (Evaluate):
2sin30°co0s30°
4. g @ifore (Prove that):
tan48°tan23°tan42°tan67°=1
5. 14 cm 30T AT 31 BT T35 IEIT ATHBA FAT BRI
Find the curved surface area of a hemisphere of radius 14 cm.
6. M fGw v Hips! & FOA qREARAT GROf & fAAor ST

Find the cumulative frequency table from the data given below:

I el | 0-5 5-10 10-15 15-20 20-25




(Class-interval)

qFIRAT 10 15 12 20 9
(Frequency)

7. 370 YbR A e 718 52 Unl & U T A U U I1gesdT STt ST 81 sHb
Uit FATd &1 fob fArasTeT Tar us:
(i) FTT 31 BT dIGRIE (ii) TP gPpH BT Ul
One card is drawn at random from a pack well- shuffled deck of 52 cards. Find the
probability of getting (i) a king of red colour (ii) a spade
Sec B
8. ufE fag (1, 2), (4, y), (x, 6) 3R (3, 5) 3 HH ¥ A W, U AATAR TG & M &1 aY x
3R y JITa HIfFYI
If the points (1, 2), (4, y), (x, 6) and (3, 5), taken in order, are the vertices of a
parallelogram, then find x and y.

9. 39 Y31 ABC &1 9% AATd HIFST, 55 M A (1,-1), B (4,6) 37 € (3,-5) B
Find the area of triangle ABC, whose vertices are A (1,-1), B (4,6) and C (-3,-5) .

10. HbH PT Ub BIHTR 20 m 1! Yeb SIX) U I 76T & 311 30 R A a1 g e auT U
WY F e A 96t g 2 1 AT O &1 Yfr S TR A T HI0T 30" A, A AN B HaAE
ST A
A circus worker is walking on a string 20 m long which is well taut and is tied to the top
of a pole. If the angle of the string with the ground level is 30°, then find the height of
the pole.

11. Gf& tan2A = cot (A- 18") 81, 5T6T 2A Ueb g BIUT & &Y A BT AT AT HIAYI
If tan2A = cot (A - 18°), where 2A is an acute angle, find the value of A.

12. 4cm, 5cm 3R 6cm YST3HT aT@ U st & w@1 HIif5o 3k R s0d a9 a Ua
31 1 B T BTy, FFeBY =T 2 5O Frgst Y ATt sy Y 2/3 T A
Construct a triangle of sides 4cm, 5cm and 6cm and then construct another triangle
similar to it whose sides are 2/3 times the corresponding sides of the given triangle.

13, 4cm 3T &1 v g FifAw | &g @ ecm ¥ A U g & ga W T @ oA
& T B |
Draw a circle of radius 4cm. Construct a pair of tangents to the circle from a point 6
cm away from the centre.

14. U 41 & 5 A7, 8 A< 31 4 R AT & | 580 A U Ade 1gesdT FHaTet s 2l
D! T UTiipar & 5 a8 ordar:
(@) HBE §? (b) FTET 8 ? () S AETE ?
A bag contains 5 red , 8 white and 4 green marbles . A marble is drawn at.
random. What is the probability that the drawn marble is
(a) White ? (b) Red ? (c) not a green marble?

See c
15. 3Tl 3T | TS U3 ge SiTar & 39k ger §31T ¥ $9 a3 q3 SiTal @ {6 93 &1 iR

ST Y P AT # 31R 3US A1Y 30° BT HIT I # | U5 & UTe fig H1 gt 6T U3
&1 AR 7 B gaT &, 8 m 2 195 61 FHars ATa B



16.

17.

18.

19.

A tree breaks due to storm and the broken part bends so that the top of the tree
touches the ground making an angle 30° with it. The distance between the foot of the
tree to the point where the top touches the ground is 8 m. Find the height of the tree.

a1 AT, 5 A UAS &7 314 64 cm? @ & T Boid! &I @SR U 819 a=mam
ST & | $H UTG g1 &1 Y81 46 ATd B |

2 cubes each of volume 64 cm3 are joined end to end. Find the surface area of the
resulting cuboid .

HaTE 220 cm 3R TR ATH 24cm aTA U 714, 5/ IR F41€ 60 cm 3R 918 cm
AT U 39 dd1 HRIUG 2, A @R &1 U a9 a7 81 $9 T &1 GoHu= AT
B, sTafes foam & 6 1 cm3 @18 BT ZHT= 7T 8 g BT 81

A solid iron pole consists of a cylinder of height 220 cm and base diameter 24 cm, which
is surmounted by another cylinder of height 60 cm and radius 8 cm. Find the mass of
the pole, given that 1 cm?3 of iron has approximately 8g mass.

o 31Tl A m1en sira B0

Find the mean of following data:

I IR 50-60 60-70 70-80 80-90 90-100
(Class-interval)
CIECIEGI 8 6 12 11 13
(Frequency)
e 317h3) A 957 JATd HIHAT:
Find the mode of following data:
it 3TaRTe 0-6 6-12 12-18 18-24 24-30 | 30-36 36-42
(Class-interval)
IRARAT 6 11 25 35 18 12 6
(Frequency)




